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AT - T

(i) GENERAL ENGLISH

41.Which would be the appropriate word to fill in the blank in the following sentence?

It was on sale, sol ... it cheap.

{a} brought
{b) bought
{c) bright
{d) buyed

42 Which word or phrase would correct the error in the following sentence?

[ will came tomorrow,

(a) coming

(b) not coming
(c] come

(d) be come

43.Rewrite the following sentence in the passive voice.

He wrapped a gift in brown paper.

{(a) The gift was wrapped by him in brown paper.
{b) The brown paper wrapped the gift by him.
{c) He wraps the gift in brown paper.

(d) He is wrapping the gift in brown paper.

44 Rewrite the following in reported speech.

“l wonder where they are going,” he said,

(a) He wondered where they go.

(b) Where they were going was wondered by him,
(c} He wondered where they were going.

(d} They were going somewhere, he wondered.
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45, Fill in the blank with the correct word possible.

This is best apple | have ever eaten.

(a) an
(b) a

(c) the
(d} some

46. Fill in the blank with the correct word,

| spent ___hour listening to music.

(a) a
(b) an
(c] some
(d}) many

P

47, Fill in the blank with the correct word.

Let us meet the entrance of the hotel.

{a} in
{b) on
(c) during
(d) at

48, If you are writing an official letter to your superior asking for leave, how would you

address him? Pick from the options given.

{a}) Respected Sir
{b) Hello Sir

{c} My Dear Sir
(d) Reverend Sir
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49. In the above letter, what would be the most appropriate Subject line?

{a) My Leave — Reg.

{b) Application for Leave — Reg.
{c) Writing Leave — Reg.

(d) Granting Leave — Reg.

50. What would be the correct form of this sentence?

| ate few mangoes.

(a) | ate mangoes few.
(b) Mangoes, a few | ate.
(c) 1ate a few mangoes.
(d) Few mangoes | ate.

51. Rewrite the following sentence in the correct form.

The price of onions were very high,

a) The price of onions is very high.
b} The price of onions very high.
¢) The high pricing of onions.

d} The rising pricing of onions.

52.Use the correct word or phrase from the options given to fill in the blank.

They to Delhi tomorrow.

(a) will go
(b) will going
(c) begoing
(d) going

53. Use the correct word or phrase from the options given to fill in the blank.

He usually come by bus.

{a)
{b) i
{c] weren't
(d) doesn’t




54. Which would be the appropriate word to fill in the blank, keeping the sentence’s tone in

mind?

All the candidates be present at 10 AM.

55. Use the correct word or phrase from the options given to fill in the blank.

You can have the ice cream or the sweet.

(a) both
(b) either
{c) neither
{(d) lot of
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(C) e & PR BNk T T WI-RaTeh Il &1 A1y
() ITEA BT I1T AT AT

IZ
(
(
II
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114. 6 WA &) HT diecl fhaar g &:

(a)6 AT
(b)9 Tlec
(c) 12 dlee
(d) 2 dlee

115. 4-Retex 59 o Hwafir 3<T o1 8T &

(a)1,2,3,4
(b)1,3.2,4
(c)1,3,4,2
(d)1,4,2,3

116. 31T T X& d18 & SIgaN = 3aved T &I Fehd el (o7 &l al:

(a) BF JTRCT X Tdhd &
(b) B9 HGRCH ol B Thd &
(c) B9 B Ty JNaRCh P Feel &

(d) 57 F @rs ot &l
117, 0t - Ted B & o w Raw fiem 9 gl & a8l gidl &:

(a) U TR HSH (T1-d 1)
(b) T SHFET IS
(c) T W& e
(d) 399 ¥ BIS Fal
RIS o= ) ———— R TET &
(@) 7Ty Y B e & forg
(b) 3TTM® 5 T o felU

(c) TTET BT 9T T & g
(d) aTe B I F9T e & oy

EY
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119. U7 U STET uTi T & FATEr Bt &

(a) UTd fopy TU aT8 & A

(b) a8 I WS faraT ST & T
(c) T TRHT Hedh TR

(d) pTHTer B

12ﬂ.mﬁﬁﬁﬁawﬁwmﬁéﬁ?ﬂﬂﬂﬁﬁqﬁméi

W
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_DEPARTMENTAL EXAMINATION FOR EMPANELMENT OF CASUAL STAFF CAR DRIVERS
AND CASUAL DESPATCH RIDERS
IN THE RAJYA SABHA SECRETARIAT

QUESTION PAPER FOR WRITTEN EXAMINATION

ROLL NO.
Time Allowed Post
2 Hours | Casual Staff Car Driver
1 Hour 45 Minutes | Casual Despatch Rider

Qluestions in this Booklet span across the following parts;

Part | Subject No.of | Marks applicable | Marks applicable in |
Question | in case of Casual case of Casual
5 Staff Car Driver Despatch Rider
A | General Awareness 20 20 20 ]
B | General Intelligence and Elementary Math | 20 20 B 20
c General English ==y 15 15 15 |
| General Hindi ) 15 15 15
5 Traffic Rules & Regulations and other 25 25 50
D aspects related to driving duty -
Driving Technigues and basic Motor Car 25 25 Not to be
Mechanism . attempted.
INSTRUCTIONS:

1. This Question Booklet contains 2% pages, including two blank sheets at the end for rough work. After
receiving the Booklets, candidates may ensure that all the pages are intact and printed correctly.

2. Candidates appearing for empanelment to the post of Casual Staff Car Drivers are required to attempt
all the Questions of all the Parts, viz., Part A to Part D, as mentioned above.

3. Candidates appearing only for empanelment to the post of Casual Despatch Riders are NOT required
to attempt sub part (ii) of Part D, i.e., "Driving Technigues and basic Motor Car Mechanism"”, as
mentionad above.

4. Each Question is printed both. in Hindi and English and comprises of four responses. In case of any
discrepancy in the interpretation/language of a Question, English version shall prevail.

5. A Candidate is required to select ONLY ONE response and mark the same on the Answer Sheet [OMR
Sheet) provided to her/him, with BLUE or BLACK Ball point pen. In case a candidate feels there is more
than one correct response i.r.o. a Question, she/he is required to mark the option she/he considers BEST.

6. There shall be NO negative marking in this Paper.

7. Mo candidate shall be allowed to leave the Examination Hall during the examination and without due permission
of the Officers on Invigilation Duty. Candidates shall be allowed to leave the Hall only after the OMR Sheets from all
the candidates have heen collected and accounted for.
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PART A

GENERAL AWARENESS

1. Who was the President of the USA immediately before Donald Trump?
{a) Bill Clinton
(k) Barack Obama
{c} George Bush, Sr.
{d) Ronald Reagan

2. Who is supposed to have discovered America?
{a) Vasco da Gama
(b} James Cook
(c) Christopher Columbus
(d) David Livingstone

3. The first living creature to be sent into space was a .....coevee
(a) Dog
{b) Cat
{c) Horse
(d) Monkey

4. One of the poles of the earth has the Antarctic Circle. What is the other?
(a) Siberian Circle
(b} Equator
{c) Arctic Circle
[d} Balkan Circle

5. Which sport does Bhaichung Bhutia play?
{a) Cricket
(b) Volleyball
) Weightlifting
(d) Football

6. Which national leader is called the “lron Man of India”?
(a) Mahatma Gandhi
(b} B R Ambedkar
(c} Vallabhbhai Patel
(d} Lal Bahadur Shastri

]

. Which hill system runs across India, almost dividing the country into two halves?
{z2} Himalayas
{b) Vindhyas
{c] Milgiris
{d) Siwalik




8. What is the equivalent of the Lok Sabha at the state [evel?
(a) Legislative Council
(b) Legislative Hall
(c) Legislative Assembly
(d) Legislative Board

9. Which ruler had shifted the capital of his kingdom from Delhi to Daulatabad?
(a) Alauddin Khilji
(b) Aurangazeb
(c) Mohammad Ghazni
{d} Muhammad bin Tughlag

10. Which Article of the Indian Constitution prohibits untouchability?
{a) Article 1
(b} Article 17
(c) Article 18
(d) Article 3

11. Which of the following gases is commonly known as “Laughing gas"?
[a) Nitrous oxide
(b} Mitric oxide
{c) Methane
{d} Ethane

12. The scientist who discovered the principles of gravitation is.............
[a) Humphry Dawy
(b} lsaac Newton
{c) Stephen Hawking
(d) James Watson

13. Who is the current Queen of England?
(a) Elizabeth |
(b) Elizabeth Il
(c)] Mary
(d) Kate Middleton

14. Whao is commanly known as the "Father of Indian Cinema”?
(a) Hrishikesh Mukherjee
(b) W Shantaram
(c) Dadasaheb Phalke
(d) Raj Kapoor




15.

16.

17.

18.

18.

20.

How many times has India won the World Cup in Cricket?

[a} Twice
{b) Thrice
{c] Once
{d) Four

If Valmiki is associated with the Romayaona, who is associated with the Maohabhaorata?
(a) Vasishta

(b) Durvasa

fc) Parashuram

(d) Vyasa

The ‘Indian Mutiny’ ar ‘First War of Indian Independence’ occurred in which year?
(a) 1947
{b) 1857
{c} 1757

{d) 1887

The COVID 19 virus is supposed to have ariginated in.............
(a) Atlanta, USA

(b) Melbourne, Australia

(c)] Pune, India

{d}) Wuhan, China

If “Tropic of cancer” is one latitude, what is its equivalent latitude?
(a) Horse latitude

(b) Greenwich

(c) Tropic of Capricorn

(d} Morth latitude

Which organization oversees the world's health?
(a) FAD

(b) IMF

(c) WTO

(d] WHO




PART B
GENERAL INTELLIGENCE AND ELEMENTARY MATH

21. The first two words in the group below are related in a certain way. Select the word
from the options which has a similar relationship with the third word in the sequence.

Indian: Ocean:: Bengal:

(a) Bay
(b) Sea
(c) Straits
(d) Lake

22, Which numeral would fit the sequence?
2,8, 14 26

(s} 23
(b) 24
(c) 21
(d) 20

23. Which word does not fit the sequence?
Apple, Mango, Potato, Banana

{a) Apple
(b] Mango
(c) Potato
{d} Banana

24, If RAMAYANA is coded as SBNBZBOE, then code for MAHABHARAT is

a) NZIZGCZOBS5

{
(k] NEIBCIBSEL

{c) NAGAAGAQAS

{d] None of the above

25, If 4 is decreased from twice a given number, it becomes equal to thrice the same
number decreased by & The number is :




26. 1 3x-4y = 4, find x
Hy g

{a) 23
12
{b) 24
13
{c) 25
7
{d) 24
11

27. If E=5, PEN=35 then DELHI =7

{a) 61
{b) 45
{c) 38
(d) 40

28. Jay runs 10m facing towards East, turns South and after running ¥m turns West and

after running 10m reach his destination. How and which direction is he now from his
starting point?

{a) 10m South
{b) 7m South
{c) 17m East
{d) 10m North

29. The average of x and y is 4. If the average of 1,2 and x isequal to 3, yis___ .
(a) 4
(b) 3
(c) 2
(d) 5

30. Ram deposited Rs 5000/- in the bank for 3 years and got an interest of Rs 150/-. Sham

went to the same bank and deposited Rs 4000/- at the same interest rate. The interest
Sham will receive at the end of 4 years is

a) Rs 160/-
b) Rs 200/-
c) Rs 180/-
d} Rs 150/-

— —




31. Which one set of alphabets when place serially in the blanks wi II complete the series?

a_cdd b d
{a) bacd

{b) cbba
(c) bcaa
(d] cbed

32. A car starts from city A and moves towards city B at a speed of 20 kilometres per hour,

At the same time, another car moves from city B to city A at a speed of 40 kilometres per
hour. If they meet after 2 hours, what is the distance between city A and B?

{a) 100 kilometres
(b) 150 kilometres
(c) 140 kilometres
{d) 120 kilometres

33. Your mother is 4 years younger than your father. Your father is 6 times of your age, If
your age is 6 years, find the age of yvour mother.

{a) 36 years
(b) 34 years
{c) 28 vears
{d] 32 years

34. Person A is 20 years older than person B. 6 years ago, A was twice as old as B. The sum
of their current ages is

(a) S-D
(b) 7

() ?’6
{d) 70

35. One of the words in the following seguence has a different meaning. ldentify the word.

Siek, ill, unwell, disabled

{a) Sick

(b) 1l

() Unwell
(d) Disabled

Poiseer



36 In the following box, one figure is missing. Which would that be?

I ? 1
I I Il

| [ m |
|
|

{(a) |
(b) Il
{c) Nl
(d) land Il

37. Pointing towards a boy, Veena said, “He is the son of only son of my grandfather”. How

is that boy related to Veena?
(a) Uncle
(b} Cousin
{c) Brother
(d} Father

38, Ram has Rs 24, If Sham adds Rs 4, he will then hawve half of what Ram has. How much

does Sham have?

{a) Rs &

{b) Rs 10
(¢) Rs 12
(d) Rs 14

39. The box which completes the figure (X} is —

&
: v

) m ) 3) )




40. Complete the following with appropriate option.

] [oe] 9]
© 7@

NSRS

1 2 3 .

(a)
(b)
(c)
(d)

L e - ¥




PART C

(i) GENERAL ENGLISH

41.Which would be the appropriate word to fill in the blank in the following sentence?

It was on sale, sol ... it cheap.
(a) brought
(b) bought
(c) bright
(d) buyed

42 Which word or phrase would correct the error in the following sentence?

[ will came tomorrow.

(a} coming

(b} not coming
(c) come

{d} be come

43 Rewrite the following sentence in the passive voice.

He wrapped a gift in brown paper.

(a) The gift was wrapped by him in brown paper.
(b) The brown paper wrapped the gift by him,
(c) He wraps the gift in brown paper.

[d) Heis wrapping the gift in brown paper.

44 Rewrite the following in reported speech.
“I'wonder where they are going,” he said.

{a) He wondered where they go.

(b} Where they were going was wondered by him.
{c} He wondered where they were going.

(d} They were going somewhere, he wondered.




45, Fill in the blank with the correct word possible.

This is best apple | have ever eaten.

(d} some

A&, Fill in the Blank with the correct word.
l spent hour listening to music,

(a) a
(b} an
(c) some
(d] many

A7, Fillin the blank with the correct word.
Let us meet the entrance of the hotel,

(a) in
(b} on
(c) during
(d} at

48, If you are writing an official letter to your superior asking for leave, how would you
address him? Pick from the opticns given.

{a} Respected Sir
{b] Hello Sir

{c} My Dear Sir
(d} Reverend Sir

49, In the above letter, what would be the most appropriate Subject ling?

(a) My Leave — Reg.
(b} Application for Leave — Reg.
(c) Writing Leave — Reg.
(d} Granting Leave — Reg.
50. What would be the correct form of this sentence?

I ate few mangoes.

[a) | ate mangoes few,
(b} Mangoes, a few | ate.
(c) | ate a few mangoes.
(d} Few mangoes | ate,

10




51. Rewrite the following sentence in the correct form.

The price of onions were very high.

(2} The price of onions is very high.
(b} The price of onions very high.
(¢) The high pricing of onions.

{(d} The rising pricing of onions.

52.Use the correct word or phrase from the options given to fill in the blank.

They _ to Delhi tomorrow.

{a) will go
(b) will going
(c) begoing
[d} going

53. Use the correct word or phrase from the options given to fill in the blank.

He usually come by bus,
{2} aren’t
(b) isn't
(c) weren't

(d)} doesn't

54. Which would be the appropriate word to fill in the blank, keeping the sentence’s

tone in mind?

All the candidates _ be present at 10 AM.

53. Use the correct word or phrase from the options given to fill in the blank.

You can have ___ theice cream or the sweet.
(2) both
(b] either
(c) neither
(d) lot of
11




(i) GENERAL HINDI

56. aTa@a H O &A9 & ggar =8l H § @i O7 Oel Adl &7
al Holad
b) HNS
¢) HUSA
R EE

57. STel - &g @ Wl udiEardl e g
a) HI
b} STelg
¢} aof
R IGI

58, frfa@a aradl # § FE ara AT
al TSI AT & AT
b) & AT oISeh! AT |
¢) AT E AT ASHT|
d) TEERT AT AT E |

59. IREY e SIS F ggHE H err HfFT:
a) ﬁﬂéa'%?r
by aTd-gedr
¢) Ta-fgs
d} SSHI-cI5HT

60. FTrafaf@aa & @ &7 a1 e gFar &1 87 87
a) @
by T
c) geldl
dy TreT
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61. T FT el TadT Uee ﬂﬁl'U:
a) fesr '
b) &Il
c) Hdg
d) AH

62. Tig o HI AT -TFT H HWel AHfFT F1 g AT
a) #F
by B
¢) o
d) 9

63. 71 -I1d H &7 TE&r 374 =47 &7
a) BTELH
b) el et H
¢) STEY UETH
dy T arar A

64. BTU-Gd GolaT - HgIAY &1 Hel I Fas
a) BIY- UT H gar &
b) ETY-UT A Faiet HTAT
¢) R G gl 9T HaIEe gl A
d) 8- W qesHar

65. TTafEd # ¥ WA o= a9d qgdi=0:
a) dE T AT
b) S T I ?
¢} I TET AT
d) I e 7T
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66. FHAT faHar ¥ Aas] | e e WY 3O Hgray & 9T
gred g SIS

a) & fou srene

b) 37T 37T FEERTS

¢) T UL AT

d) el 7 FATE

67. T 3T TAH T FGLaar Uehe et arel e Sl--—--hed & | FNabd T T TEr
T B 9T

a) feram

b) fargrmoT

c) Hedq

d) =g

68. FAX FT FUT FF & TR
a) HATAT
b) Hel=AT

c) A AT
) HI & g FA=T

69. dTEs ATelsh FIT FA FLAT £7
a) dTEA ST
DECIEERIIGIES
c) g ol FLaT
d) Mg TATAT

?D.ﬁmﬁﬁﬂa%m’iﬁﬁma@maﬁaﬁg_
a) TS
by 2T
-:}TT%YTITw
{‘]}ﬂTﬁ"’ﬁ
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71.

72.

73

74,

75.

76.

77.

PART D

(i) TRAFFIC RULES & REGULATIONS AND OTHER ASPECTS RELATED TO
DRIVING DUTY

The signal for taking U-Turn.
(a) Left turn signal.

(b) Right turn signal.

{c) Slow down signal.

{d) Stop the vehicle

Minimum age for obtaining driving licence for transport vehicle:
{a) 25 Years.
{b) 18 Years.
{c] 20 Years.
{d) 21 years.

all motor vehicles must be covered by:
{a) Life Insurance.

(b) Third Party Insurance.

(¢) Comprehensive Insurance.

(d) Car Insurance.

If the road is marked with broken white lines you:
(a) Shall not change track.
(b} Can change track if required.
(€) Shall stop the vehicle,
{d) Shall reduce the speed.

Blinking red traffic light means:

(a) Stop the vehicle till green light glows.
(b) Stop the vehicle and proceed if safe.
(c) Reduce the speed and proceed.

(d) Mot to stop the vehicle.

Maximum permissible speed of a motor car near educational institution:
(a} 50 kms/hr.
{b) 40 kms/hr.
(¢} 25 kms/hr.
(d) 30 kms/hr.

According to section 112 of the Motor Vehicle Act 1998:
{a) Speed limit shall not be exceeded.

(b} Shall nat drive after consuming alcohal.

(c} Shall not use vehicle on road without paying tax,

{d} Mone of the above.

15




78, You can overtake a vehicle through the left side if

{a) The driver of that vehicle indicates his intention to turn right and proceed to the

center of the road.
{b) There is sufficient space on the left side.
(c] That vehicle moves slowly.
{d) The vehicle does not move slowly.

79. The minimum age for attaining a licence for a geared vehicle is
[a) 16 years
(b} 18 vears
{c) 20 years
{d} 21 years

80. Give way sign is of
(a) Triangular shape
(b) Circular shape
(c} Octagonal shape
(d) Hexagonal shape

81. 5TOP sign is having
(a) Octagonal shape
(b) Circular shape
(c] Triangular shape
{d) Any shape

82. The clearance time is indicated hy

(a) Red
(b} Amber
(c) Green
(d} White

83. Validity of learners licence

{a) Till the driving licence is obtained
(b} & months

{c) 30 days

{d} 01 year

84, The following sign represents

{2} First aid post
(b} Resting place
(¢} Hospital

{d} Hotel.

16




" 85. When a Vehicle is parked on the road side during night
{a) The vehicle should be locked _
(b} The person having licence to drive such a vehicle should be in the driver’s seat
(c) The park light shall remain lit

(d) All of the above

86. The following sign represents

{a) Road closed,

(b} No parking,

{c) End of speed restriction,
(d) Narrow road ahead,

£7. The following sign represents

(a) Restriction ends,
(b) Na parking,

(c] No entry,

(d) Mo overtaking,

g8, Zebra lines are meant for:

(a) Crossing of pedestrians
(b) Stop the vehicle

(¢) Shall not change the track
(d) All of the above

17




89, The following sign represents

a} To stop vehicle.

b) To give way

c} Round about

d)] None of the above

—— e,

90. The following sigh represents

{a) Stop

(b) Mo Parking

(c) Round About

. (d) Mo Stopping ar Standing

91. The following sign represents

(a) Left Turn Prohibited
(b} Overtaking Prohibited
() One Way

(d) Mo Entry

18




92

93.

94.

95.

. The following sign represents.

(a) U-Turn

(b)) U -Turn left

{c) Hair Pin Bend Left
{d) Hair Pin Bend Right

=]

The following sign represents.

{a) Hump or Rough Road
(b) Falling Rocks

(c) Speed Breaker

(d} Slippery Road

Fog lamps should be used when:

{a) There is mist.

(b) At the night.

(e} Overtaking.

{d) When we are using dipper.

Which is an acceptable reason for not wearing seat belt:
(a) You are reversing your car.
(b} Supervising a learner driver who is reversing.

{(c) Who holds a medical exemption certificate.
{d) All of the above.

19




(ii) DRIVING TECHNIQUES AND BASIC MOTOR CAR MECHANISM

96. Before starting the engine of a vehicle:
{a) Check radiator water level and engine oil level.
(b) Check head light.
(c) Check brake.
{d) Check tyre pressure.

97, Type of Horn permitted.
{a) Air horn
{b) Multi toned harn
{c) Electric horn
{d) Pressure horn

98. When our vehicle is being overtaken:
(a) We shall not increase speed.,
(b} We canincrease speed.
(c) We canincrease speed with due care,
(d} All of the above.

89, The unit of temperature in 5.1, unit is:
{a) Centigrade
(b) Fahrenheit
{c] Kelvin
{d) Rankine
100. The unit of Time in 5.1. unit is:
(a} Hour
(b) Minute
(c) Second
(d} Day

101. The working cycle in case of 4 stroke engine is completed in following number of
revolutions of crank shaft :
fa) 1
(b) 2
{c) 4
{d) ¥
102. In a diesel engine the fuel is ignited by :
{a) Spark
(B) Injected Fuel
(¢} Heat resulting from compressing air that is supplied for combustion
{d) Combustion Chamber.
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103. Compression Ratio of I.C. engines is:

(a) The ratio of volumes of air in cylinder before compression stroke.
(b) Volume displaced by piston per stroke and clearance volume in cylinder

(c} Ratio of pressure after compression and before compression
(d) Swept volume feylinder volume.

104. The maximum temperature in the I.C. engine cylinder is of the order:
a) 500—1000°C

(

(b} 1000 — 1500 °C
(c) 1500 -2000°C
(d) 2000 - 2500 °C

105. Which of the following medium is compressed in a Diesel engine cylinder?
} air alone

(a

{b) air and fuel

{c) air and lubrication oil

{d) air, fuel and lubrication oil

106. The air-fuel ratio of the petrol engine is controlled by:
{a} fuel pump

(b} carburetor
(c) injector
(d} governor

107. A 75 CC engine has following parameter as 75 CC:
{a) fuel tank capacity

{b) lubrication il capacity
{c) swept volume
(d) cylinder volume

108. Ignition quality of petrol is expressed by

{a) Octane number
[b} Cetane number
(¢} Calorific value

[

d) self-ignition temperature

109, Piston Rings are usually made of:
a) castiron

{

(b) aluminium
{c} as babbitt
{d]) carbon steel

110. The preferred location of an oil cooler is
(a) before the filters
(b} after the filters
(c) between the filters
(d) any where
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111. Generally which brakes are on the front wheels?
(a) Drum brake
(b) Disk brake
(c) Shoe brake
(d) Double shoe brake

112. What should you do when you see a traffic sign of a school nearby?
{a) 5top the vehicle
(b} Slow down and proceed carefully
() Press harn and proceed in the same speed
(d] All of the above

113. f an ambulance is approaching,

{a) No preference should be given,

(b) Provide passage if there are no vehicles on the other side,
(c] Allow free passage by moving to the side of the road,

(d) Stop the vehicle

114. What is the voltage of 6 cell battery?
{a) 6V
(b} 9V
{c) 12V
{d) 2V

115. What is the firing order of 4-cylinder engine:
(a) 1,2,3,4.
(b) 1,3,2,4.
(c) 1,3,4,2.
(d) 1,4,2,3.

116. If the driver of the vehicle in front has not given signal for overtaking
a) We can overtake.

{

{b} We shall not overtake.

{c) We can overtake blowing hom.
{d} Naone of the above

117. Road on which driving in reverse gear is prohibited.
(@) One-way road.
(b) Stop descending road.
(c) Stop ascending road.
{d} None of the above,

118. The hand brake is to be used:
(a) Toreduce the speed.

(b) To apply sudden brake.
(c) To park a vehicle.
(d) To stop the vehicle immediately

22




119, A place where parking is prohibited:
(a) In front of parked vehicle
(b} Vehicle parking place.
(c) On one-way road.
{d) On footpath.

120. Which of the below mentioned is not a component of the IC engine?
(a) Pistort
(B) Cylinder
(c) Wheel

{d) Spark plug

ook ok ok
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